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ez BT (FA) | BUEfifg (BiA)
TA =N A= ATFTT7 7Ly —LA 5,500H 6,050
TA—NA= a2 ATT Ty I —L4 4,400M 4 840
TA—=NA=a ATT RNAZNF=T 2yH—2 6,600 7,150
T4 =N A=a 477 7)) 7A—>3 v 4,400 4,840H
T4 = A=a2a4TT7 EA4ARbA—> a3V 5,500 6,050
TA=—NA=T a2 ATT7 RNAZLF—=T Tyt R 7,150M 7,700
T4 =A== A4TT7 FA4ARNINLY 6,050 6,600
TA=—NA=Ta ATFTT RNAZLF=T7 =L 7,700H 8,250
T = Tr—LoLTVT 3,520H 3,850H
FI7oTV =L INF—Trya 3,300MH 3,520H
A7 =N IUTTy T I+ —2—B 3,300MH 3,520H
FI7o =N IV T Ty T I ==Y 3,300H 3,520M
FI7o =V I UT Ty T I+ —K—R 3,300H 3,520
FooVrz— )L Iyt AO—v 3V 3,850 4,180M
FoSoT I NIILTFTT Y — L 4,950H 5,280
FyRy oLy —A 3,300/ 3,520
FyRy oy —oo0—L4 3,520H 3,850H
DR AT ATy URZILKTA =T 74y a2 EX 4,400 4,.840H
DR XT 47y oo )RZILKTA b= a— 3> EX 6,600H 7,150
DR XFT 47y oo )RZIL KA =TTyt EX 11,000/ 12,100/
DR AT ATy 7YARRZILFRTA =T 2Ry EX 8,800MH 9,350M
DR XT ATy o) RZILHKTA =77 — 1 EX 11,000/ 12,100M
DR XT ATy o) RZILKTA b= <R EX 7,700 8,250
DR AT AT YTV YARZILFKTA =TI L A<AY EX 8,250H 8,800H
DR7ZA4 b 7y Ty FHAIL 11,000 12,100
DR7ZA4A 7y 7=V I<RY 8,800 9,350H
DR7ZANT7y T <wvHY—o 00 —L4 13,200 14,3004
DR7ZA Ty 7 oLyl —LA 11,000 12,1004
DRIIWVKyYT7 L—XT4va 3,520 3,850
DRIILKyw> 7 V) —T4—%— 3,850H 4,070
DRIWKSYT7 JU—I—FARF v 74H— 4,180 4,400
DRIILKy>T oLy ILd:— 3,740 3,960
DRTIINFKyw 7T EA RT3V 3,960 4,180H
DRIZA4 LX) Oyt L —F<RY 8,250M 8,580M
DRIZZA4 L)L aver L — Yol 7,150H 7,480H
DR7ZZA4 L)L avtrybL—rFANRy D 7,150 7,920
DR77x2VU7Yy—"7 3,300 3,520H
DRAA /L E—LA—> 3V 4,400 4,620M
FyRy IRyy I57)O—FZU—Lty b 5,500 5,720
FyRy IRy 2Z7)0aA—FTYU—L L T4 2,200 2,420M
FyNRy aAVF 42— 5,500 5,720
TRy FLTzARMY—=FXV R 3,300/ 3,520
FyRy FLTzAXMY—=FXV NI 3,300H 3,520
TILERAXFX 7 —L4 2,662H 2,750H
TILEBARXX> 7Y —LN 2,662H 2,860H
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REA RATMEE Fd) | BoEfisg (BiA)
87 )LaH% I CA 7,560 8,100
B34 I CA (3P) 19,980H 21,0604
TLAYTAIIT 7,560 8,100
TJLA>T7A4479U7 (3P) 19,980M 21,0604
5 BDREAN 5,940 6,264
5 52%EN (3P) 16,2004 16,740
2L S 5,400 5,616
2L+ (3P) 14,580 15,120M
Sl 270 16,200 17,280H
o @Sl 16,200 17,280H
BICEEAR 3,240 3,780H
FHEEM 5,940 6,264
FHSZEM (3P) 15,120 15,660
LA 37 - 2FFH H R 3,078H 3,240
A H - 28FH A A (3P) 8,640 9,072
BB TA 0,940 0,204
SiETA (3P) 16,200 16,740M
7hHY 27X 101a 27,000 28,0804
DRATATYI TITA4T77UTRTLY K 4,590 4,860
DRATATY I 7074727 )7&%7Ly k (3P) 12,420 12,960
E4%3C&B 4,320 4,536
B4 3>C&B (3P) 11,880M 12,420H
ARy x3—JL R 7,884 8,424
ARy x3a—L K (3P) 21,060 21,600
EACERES500 3,456 3,388H
TN LT ZILR— Xk 3,080 3,300
TR L BT ZIL~—Z ~ (3P) 5,940 6,380
ta—-—hrKRT420—L 5,500 5,720
t)a—bRT47V—L Ky b) 5,500 5,720
Srll—Fz NV RIytrX 1,980/ 2,090M
TETAT TA—TIRT v/ — 2,750H 2,860
TETAT TA—TIURT x> T— LT 4L 2,090 2,200
ETA4T7 TA—7 777 b T a— 3,300H 3,520
ETA T TA—TIURT TRY 4,180M 4,400/
ETAT7TA4A—7TURTF)—k XV ba 3,080H 3,190
ETAT7TA—TIVRFTRrY—=FX>bal 74 2,310H 2,420M
IXy hk~7hHF5—A LBR 2,200 2,420
IXAy b ~7HF—A BR 2,200 2,420
R—ILAT7Ea—F4— F—KRLTJL 6,380 7,150
FywRy FALNERBIAALT S v T — 2,750 2,860
FyRy FLERIAALTS v T— L T4 2,200 2,310M
EH BX 6,600 7,150
IL—t v ZUVR—Z I LF— 5,500 5,720
N—t VR AT7—F I )LF— 5,500 5,720M
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